[bookmark: _GoBack]EOG Computation Review #7				Name:____________________
1. (−21) – 7=____________

2. -24 − (−14)=_____________


3.  A 2 fl oz bottle of orange juice costs $8 and a 4 fl oz. bottle of orange juice costs $12. Which is a better buy?
	



_____________

x _________________





n


x 


(v)=_____________


        9.  −9 (3x + 4)=____________


10.  Marty bought 2 pounds of ham for $11 at a deli.  How many pounds of ham can Marty buy with $33?___________________

      11.  20 = −5(2n + 5)

___________________
